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PART -A 4

Ordering of words in a sentence )
Directions : Each of the following items in this section consists of a sentence, the parts of which have been
jumbled. These parts have been labelled P, @, R and S. Given below each sentence are four sequences
namely (a), b), (c) and (d). You are required to re-arrange the Jjumbled parts of the sentence corr ectly and

mark your response accordingly.

1. becauseIfeel you remember it better =~ when you write something,

P Q R
I make at least three drafts of a song
sSQ
S ) PR
- ces of water
The correct sequence should be : . need to atilize the resour
dand un:man life thrives we a
(a) SPRQ 5. ecology is protecte
P
(b) RQPS . tural
P ;o that its na
(© . QRSP for different purposes while Mﬂ._\m\c\dem\\\
(d) PRSQ R
: The correct sequence should be :
2. for hours in the shop - a gunman who held ahostage demanded ransom of ¥ 10 lakh
(a) SPRQ
P Q R S
The correct sequence should be : ® RQPS
G SRS © QRSP
by BQES @, PRSQ
(@ QRPS )
t of traffic  due to 108
@ PRSQ 6. very difficult the poor visibility EMEE\ \|\|m\|
the poot 7= ———
= R
. . . . Q
3. living in Russia country immediately  Ukraine has urged its citizens P

to leave the

: o ! s The correct sequence should be :

S
The correct sequence should be : @ SPRQ
(a) SPRQ

( RPSQ () RQPS

(c» RSQP S

& PRSQ (c) QRP

@ QSRP
>m9‘-_u-mzo (2-D) D
3-
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SR

7 avenues for th .
e patients to indi .
— e patients o indic
- but rarely is it the other way round Jdioms and Phrases
Q Choose
. . ] ings for &hh\u.
E the doctors Directions : Given below are some idioms/phrases followed by \EMM \a&mn native meanings f
R S the most appropriate answer from among the options (@), (b), (c) or (/.
The correct se
quence should be : .
(@) SPRQ uldbe: 11. The Lion’s share 16. Sit on the fence
() RPSQ (a) A nportion of something (a) Avoid meeting someone
©  QRPs (b) The largest and the best part of (b) Waiting patiently
@ Qsrp something @ Avoid taking sides
8. flight, and each person (¢ Animportant decision (d) Hiding from someone
—_— er own j po e
b Journey lifeisasolo makes his or @ An aggressive statement
Q h tack
The correct sequence should be : R S 17. Be assharp mm. a tac!
(a) SPRQ : 12. Spill the beans (a) A talkative person
(b) RPQS (a) Reveal a secret (b) A shrewd person
© RPsq (b) Forced to leave belongings (&) A clumsy person
(d PQRS () Share the news (d) A clever person
9. EE technologies and equj (d) Take offence at someone’s rude .
P ———~ %7 equipment has behaviour 18. From pillar to post
into Q (3) Upside down
ar
Ihto & rare contre of excelence  adoption oftho latet £5) Cooksomeone's gose () g miqribg from e 1 o8 k0 REier
m .
The correct R m/ (a) To assist others (¢) Constructing a huge building
(a) wowmmmncmunm should be : (b) Hypnotize other’s mind (d) Jumping from the top of the mountain
() RPQs (¢) To spoil other’s plans \,
(© SQPR (d) Inviting misfortune (ﬂw Heath Robinson
(d) QSRP (a) Very complicated system or machine for
10.  please mark ¢k 14. Disappear into thin air moEm.m simple task
——— "= 'hesame  bemadeinre r Lostd (b) Treating everyone as enemy, when they
P é 9 Lost forever are not
if you hav Q (b) Become forgetful (¢) Sleeping all day, doing nothing
E to the concerneq () Become uncaring (d) Very lazy person, slow in action
The oo R rw/w:nro:.&. (d) Disappear suddenly
rrect
(a) wOMmmoacmuom should be : F\@ As thick as thieves
(b) RPQS 15.  Put the screws on (a) Dumb person
(c) SQPR (a) Forcing someone to do what you want ®)  Good for nothing
(d) RQPS (b) Never letting go of things () Someone who uses everyone for
© Ke 4 personal gain
©) wv the past alive @ Very close friends who are looked upon
(d) Using someone’s trick for own benefit with suspicion
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Synonyms

Directions :
ns P with an underlined word followed by four

optio : Each item in this secti ists of a se
ns, :
(@), ®), (c) and (d). Select the option that is nearest in meaning to the underlined word and marh

your re i
SPonse in your Answer Sheet accordingly.

21.

Durin, . L
g the pandemic the indigent people had | 26. The redemption will now depend on his pe,
w

to suffi
(a) or a lot. strategy of inclusiveness.
®) very poor @ rotrioval
opulent
(© mo—<m~~u~n (b) forfeiture
(d)  prosperous MMW Moﬂenwaou
esecration

-/ She had no idea what made him angry in one

minute and jovial the next. 27. Only three candidates are now in contention

(&  aggrieved for the title. ===tlion
(®)  melancholic (a) involved in dispute
MMVV mc._mmE (b) in agreement with each other

mirthful (€)  chance of winning

.\
(d) amiable to each oth

. er
23. It is sheer lunacy to drive a car in this frosty

weather.
) 28, .
) o MMH memwsm paraphernalia is in the car.
(b) normalcy oxes
{¢) insanity M€ accessories
(d)  sanity ¢ fuel

(d) food

24. Operating on a child with cancer need
s

meti i i
eticulous planning and teamwork. 29. The public watched in astonishment as he

.MMW m_u.ou g took a sudden jump from the bridge
ong (a) anticipation .
(c) Ewﬁ..& (B hurriedly
(d) scrupulous (©)  wonderment
(@ calmness

25. The thrill of over-speeding the vehicle can be

exhilarating, but it is im, ..
portant not to take 30. Drinking inordi ate amoun

the consequ . .
(a) r:hm”” s lightly. good for health. of liquor is not
(b)  dreary (@  temperate
()l exciting (®  exorbitant
(@ agitating Mw moderate
regular
A>m0.:u.m20

(6-D)

Spotting Errors

lled (@); ®) and (©)-

entence with three underlined parts labe
e in

n this section has a 8
nderlined part. Indicate

Directions : Each item U Jour —

nd out whether there i
letter i.e., (@) o (®) or (©)-

s any error,in any u
your responsé

Read each sentence to fu
If you find no error;

the Answer Sheet against the corresponding

should be indicated as (d).

to a height of a few kilometers.

31. Overlong periods of time, layers of sediments builds up
(a) AS\ (c)
No Error
@

uw..\ When a gasis cooled down it turns into a liquid from a process called condensation.

(a) (4 ©

No Error

@

33. Ifyouwant toknow the news you can read a newspaper. No Error

® ®) © @

34. Columbus made his first voyage from Europe to America on 1492.

(a) (b) ()
No Error
(d)

ASGT-F- .
ENG (7-D)



5. Whenever the skyis clear, you can see the stars in the night. No Error

(a) (b) © , @

Y

36, I'm not working tomorrow, 80 Idon’t had to getup early. NoE:
: rror

(a) (by (© @

37. Shedidn't tell anybody about her plans. No Error

(@) ®)
) © @

88. Sh )
e wouldn't have has an accident, if she had driven carefull
@ (b) , -
No Error

(c)

(d)

89. Iwill watch film ifI finish the work intime. No Error
(a) (b) (c) @
40. In 1989, the government did an about-face and Iran restored it’s famil i
- = y planning program
zlomhe. ()
@)

\}..J ASGT-F-ENG
- (8-D)

Antonyms

Directions : Each item in this section consist:

options, (a), ®), © and (d). Select the option that is opposite t

mark your response in your Answer Sheet accordingly.

41. The parental support can @\&\@u a child’s | 46.
learning.
(a) weaken
(b) encourage
(c) brace
(d) strengthen

417.
@ Now we can have another dazzling thought,
. as an outcome of My prilliant research!
(a) splendid
(b) murky
(c) dazing
(d) fulgent
48. The group held some clandestine meetings to 48.
resolve the matter.
(a) secret
() covert
(c) sneaky
(d) public
44. In the winters, the countryside view is E\?nlw
and the house is drafty. 49.
(a) cheerless
(b) verdant
(c) desolate
(d) bare

————

supporters remained passive.
(a) quietude

(b) uproar

(O] KEBvoma

d) stir

@ Amid commotion the leader and his | 50.

ASGT-F-ENG (9-D)

s of a sentence W

ith an underlined word \.&?Sm& by four

in meaning 10 the underlined word and

He had the audacity to blame him.
(a) boldness

() vigour

(cy temerity

(d) politeness

They are making plans for the abatement of
the nuisance within a specified time.

(a) subsidence

(b) ebbing

() accumulation

(d) mitigation

There is onential  growth in the
development of the scientific researches in the
recent few decades.

(a) aggressive

(b) rampant
Amw meager

augmented
-~

He was known for his sagacity.

(a) prudence
(b) wisdom
(c) ignorance
Amv sapience

The river Ganges culminates in the Bay of
Bengal.
(a) concludes

(b) flows
© originates
(d) merges
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o 5. ﬁﬂﬂ.@wﬂ
o 5 fRm R 0 i 3 Ay, s SR PART-B
ESU T (owermostinpe N A following is the
(@) igneous rock) 9 TTost Esdmrm 51. The Counter Insurgency and Jungle Warfare 65, Which one of the following )
b 3w (Vairengte) . School of Indian Army is situated at : _,,v lowermost/innermost intrusive igneous rock ?
© T @ ¥ Lacestcn) @ Dehradun
b) ey (a) Laccolith
@ W& (Mhow) (b) (Batholitp) ()  Vairengte
© WA (Lopolit,) ©  Gulmarg (®  Batholith
2. ﬁ_ﬂmm T (s0ilforming regipme) Afman| @ S Chacyy, W Hhow & Lopeti
T AT T T i
5 @.ﬂ_fdmmd @m._ w. 52. In the soil-forming regime, which one of the
= Lk m_yu.m: B &) . . . (d) Phacolith
? ﬁ.mn ﬂw W@J i %Bm.m . = following occurs in a region where
(@ I SIEEE] AOmﬂﬁmnmﬁoE ¥ T B RWE A s, UK, evapotranspiration exceeds precipitation
b)  FTevE ? significantly ?
v (Laterization) - o 86. Ifit is 12 noon in New Delhi, what will be the
(c) A%ﬁu( (8) Calcification
Qommornwsosv @ 6:30AM. soots time in London, UK ?
@) ,.@ﬁmu ()  Laterization )
(Gleization) (®) 6:30 .M (¢)  Podsolization (@) 6:30 AM.
. (d)  Gleization
53. Freafefen 3 § FEH, Yot ¥ sy Wi 3 © 5:30AM. ® 630P.M.
TR S R 9 : - .
. ) @ 5:30 PM 53. Which one of the following is found in the © 530AM.
(@) Fiite I (Conrad Discontinuity) el o i
(b) aﬂ@ SHEE (Moho UESE.EEJV AMV oS”mM_ discontinuity 30 P.M.
© TE iy (Guttenberg 57. W, =R adk % 6 ARk # 3 (b)  Moho mnonsw—:@
gmnouﬁdiﬁv gﬁw (©)  Guttenberg discontinuity
@ A ) TR SRy (Spring tide) % o @ Lehmann discontinuity 57. Which of the following positions of Sun, Earth
(Lehmann Uﬁnoaﬁsiawv IS w\w ? and Moon is/are suitable for Spring Tide ?
54. W.ﬂﬂﬁﬂm XAy Eack: EL ﬂﬂdﬁﬁd_v e W 1. M§O<MW AOo&cbosgv 54, Which of the following tree species ig/are 1. SYZYGY Conjunction
T et W2 found on Himalayas ?
2. mgokﬂmﬂ (Opposition) 1. Oak 2. SYZYGY Opposition
L 3 (Oak) 2. Rhododendr
2. &@WM". (Rhododendron) 3. mumwa__.ﬂw__w (Quadratyre) . ododendron 3. Quadrature
3 ,ﬂﬂmw Ro = ﬂﬂ L 3. Rosewood Select the correct answer using the code given
umw ) (Rosewood) T W Hug N mwﬂ : Select the correct answer using the code given below :
Ealoint . R below :
ﬁvﬂﬂdﬂmwmw v ﬂﬁﬂ%udﬂmﬂwa. (a) wﬂﬂw . © 1oy
a) Faw a) only
®) F3q 92
b)) 2 wﬂ.ﬁ 3 ) 2and3 (b) 2only
© 133 © 13ks © 1land3 © land2
@ 132 @ 13ks @ 1and2 @ 1land3
ASGT-F-ENG ASGT-F-ENG
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58, @ TRV mﬁ_mf, S 3 @ @R AW |62, F Ao W A SR ¥ wy . . lture and jrrigation
(The Last Supper)’ fifia fofam o 2 s 3 . A allocation in 287 .
. M F A AEH (plan % 56, Which Renaissance artist painted ‘The Last | 6% e 8“8% of total plan outlay %2 ighest
(a) HEFETIE! (Michelangelo) e qeadia AT § =G o7 9 Ocatiop) Supper ? _wbm .m.mn
(b) SFREN (Donatello) i .
. (a) Michelangelo

(a) GaEt T A Five-Year Plan
() WP (Botticelli) () Donatello (a) Seventh Five
@ fAe T fa=h (Leonardo da Vinei) () R i A () Botticelli () Third Five-Year Plan

(© WuW YEasiE Ao (@ Leonardo da Vind «  First Five-Year Plon

59, frfefiaa .
& 3 fre d Srowat 3 AR @ e dadfa A (@ Second Five-Year Plan
R foe s 2 59. Which one of the following European explorer
conquered Mexico ?
(a) aTER! f§ M (Vasco da Gama) Vasco da G
(a) asco da Gama

UN cop-27 frgt-arier frad wafy

(b) m%.nm o
W (Bartholomew Diaz) ?? () Bartholomew Diaz 63. TheUN COP-27 Summit relates to :
(© W (Magellan) (a) ﬁmﬁwﬂ I3 (© Magellan ) )
(a) Russia-Ukraine war
(d) T F (Hernén Cortés) (b) ITHATE 3R AR (@ Hernén Cortés . .
(counter-terrorism) (b) Terrorism and counter-terrorism

(¢) Climate change

60. WG ¥ frofefid i ¥ frg (c) Say qiEdq 60. Near which one of the following cities in India
TR 6 ERHE < T B kAl have large statues of Kushana rulers been
femd, it s % 2 @ U discovered ? (d), Interpol
(a) A
(a) Karnal
(b) 9T (Ropar)
(© fan (b) Ropar
@ WA & uﬂ.ﬁ.ﬁ & 6 Afafas swefl 3 © Hisar 64. Which one of the following tribes from India’s
R ¥ T s A i o North-East had the earliest ~known
I & WY wEE @ Mathura o . .
A § way . association with cultivation and production of
Y o (earliest known association) tea?
' L3 e # ¥ e .
FEAN T g % Wm 61. The Treaty of Yandabo was concluded as part
. (a) @ of which one of the following wars ? (@) Khasis
(a) Wum ?
Al gg
® Tl sead - ® TR (a) First Anglo-Burmese War ) Garos
(0 IIrAFH I3 © (b) Second Anglo-Burmese War
. R 2 (¢) Sinf hos
d) ATI-HST Ig (¢) Anglo-Kuki War &
@ SwEfeEn

ASGT-F-ENG

[GV] Anglo-Maratha War

(G) Jayantias

A4NIUV
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65.

66.

617.

ASGT-F-ENG

fefafea & @ ; :

fam (azat aeivm) fufem
wfaum (aqat e st
wRum (85at deyA) rfufvam
wfeur (ozat weivem) srfufm

(a)
(b)
(c)

@

e § A AT FATIR?

(a) ﬂwﬂﬂm&ﬁuﬂmﬂ.mﬁwﬂmﬂﬂ
Wuﬂmﬁ@ﬁ@ﬂw_

gedt W gHT 1 T 9, SgH W
F 1o W @ ARFH R | kal

(© g W ged H e @ gl W
g 1 e @@ wrwE # wu & 3

wafmAE
g W gedt W e w9 3 g W

g 1 e @ qrwm #§ wTeR ¥ fhg
faalia et A 8 1

(b)

@

n.mﬂmwﬂmﬂmno,\uﬂmoswmam
FRURE (rated) & | S T 110 V W JeIferd
o ST w. @ ofe dfitor (power rating)

-1 8 2
(a) 8O0W
b) 60W

(e 40W

70.

@d@ 20W

:A!Uv

69.

68. ﬁ%ﬂm%@ﬂﬂd&muﬂﬂw

st , Preffad # & - a@ R 2
(a) e v wea 3t fefew dar R
s fow § @@ yEWM H -
sy B B

fren v R ot Rreferd g R
%@ﬂm&%uﬁa%ﬂﬂ%ﬁm
At 2

s § AT T <l =

ot &

e v TR ot foafem g g,
%wﬁmﬁwgﬁﬂm%

(b)

(c)

(GY)

fow g wreem # ey i = F forg Fefiled
Ty AT R ?
@ @t smghell W el i @ FuE i
i
(b) aﬂﬂ%ﬂﬂm%mﬂ%
iferes At 2 Hrpd
(c) wﬂﬂ%ﬂﬂ@%ﬂﬂﬂw
s e
@ IR R W e # e I
- B e

e # ¥ fra et (2efiei) 3 e
Tdu 8 & 2 )

(a) w%%ﬁmﬁ

b e gl

O] uww&ﬁu

@ T (Schmidt) T

65. By which one of the following amendments,
4 | , | 68.
was Article 51A, relating to the Fundamental

Duties, inserted into the Constitution of

India ?

(a) The Constitution (42" Amendment) Act

() The Constitution (44" Amendment) Act

() The Constitution (85" Amendment) Act

(d The Constitution (92" Amendment) Act

66. Which one of the following statements is

true ?

Ta) The force of gravity of the Earth on the
Moon is greater than the force of gravity
of the Moon on the Earth. b

(b) The force of gravity of the Moon on the
Earth is greater than the force of
gravity of the Earth on the Moon.

(¢) The force of gravity of the Earth on the
Moon and of the Moon on the Earth are
equal in magnitude and are in the same
direction.

) The force of gravity of the Earth on the
Moon and of the Moon on the Earth are
equal in magnitude but are in opposite
directions.

70.
67. An electric bulb is rated as 990 V and 80 W.

When it is operated on 110 V, the power

rating would be :

(a 80W

(b)) 60W

() 40W

d 20W

ASGT-F-ENG (15-D )

(a)

ght by 2 com®®

In the di ion of white 1i L s
n the dispersion ©! e follo gis

glass prism, which one among
correct ?

Red light devia
light has highest sP
t deviates the most _u
highest speed in prism

d
tes the most pecause re

eed in prism
se

Blue ligh ecalt
blue light has
Red light deviates the most bec
light has lowest speed in prism

most becausé
d in prism

(b)
© ause red

Blue light deviates the
blue light has Jowest spee

[CY

Which one among the following is true for the
speed of sound in a given medium ?

Speed of sound remains same at all

frequencies

(@)

(b) Speed of sound is faster at higher

frequencies
() Speed of sound is slower at higher
frequencies
Speed of sound is slower at higher

wavelengths

d

Which one of the following telescopes contains

only mirrors ?

(a) Galilean telescope

(b) Keplerian telescope

(c) Newtonian telescope

Schmidt telescope

@



. ﬂEw&%ﬁMwmaLMWanawﬁam 75. @RAM, Siou@ gl UEEe iR Sy
forfefaa & & frweet @ fofa S & 2 () 8 sk =@ i
. STHEA, AT Iy pemical
‘ n . . : - ci f a C
(a) m&.&m@ﬂ_ (Fine clay soil) A 9 i I HFEAF m_ﬂ_d T F 1. For B.gc.nwnocnam of glass, i:.nw among the | 75. Airbags work on the udu.o%_m M Hcmﬁnmbm a
) *E Mﬁ (Wood powder) EG| m | feafafes & @ 94 T following is used as a source of silica ? reaction nlm.mmnmm by the impac m“w . volume
BT EU| mmwﬂ Wﬂ IR w ? (a) Fine clay soil gaseous product that causes a sudde . Howing
(c) @S H @ (Coconut shell) () Wood powder change. Which one among the oewmm ?
@ = (a) Wfiam e 1 Ao e (© Coconut shell chemical conversions is responsible for
() %.m FEA SRATERS W A Eoce] (d) Sand (a) Sodium azide into nitrogen gas
2. Fefife & & sha, W W R SriieEES A () Solid carbon dioxide into gaseous ¢aTPo?
HifiTeh SH F T8 g § 7 fmmw © _ . Whi L dioxide
29 c ﬂﬁgﬂﬁﬂgﬁ 3 o ch among the following is the correct .
arrangement of halogens in the increasing (¢)" Carbon dioxide into carbon monoxide
@ F,CLBr,I @ T T SRR W wEe order of their oxidizing nature ?
® C ARtese § IR, FITRT . (d) Sudden conversion of gaseous carbon
1,Br, F, I (a) F,ClLBrl dioxide into carbon monoxide
© Br,L,CLF 7 N (®) ClBr,F,I
, 1, Cl, 6. ) P ]
@ I,Br,CLF & forctl & @ fearl 1947 3§ (©® Br,I,CLF
» Br, Cl, TR i =0 % o SAETE R T O 76. Which one among the following districts of
. ; ] T wfee & anfiver & a7 @ LBrCLF Eastern India held a referendum in 1947 to
- IR H 39 H Tehe frea, @y @ decide whether or not to join Pakistan ?
e a1 € | e v
53 . AT F WY e @ Copper sulphate crystals available in the (a) Sylhet
o @ﬂwm | Fen & FrafiReg i3 (OBREIGE market are blue Q“_oﬁ.mm crystals. By careful 4
9 e heating, they turn/to white colour. Which one (b) Goalpara
@ s (c) HBR of the following is responsible for the blue
SATerefiom colour ? (¢) Cachar
® TR : @ e
@ = | . (a) Oxygen (d) Jalpaiguri
. S Rreerg (b) Nitrogen
@) ﬂw@ﬂﬂ @ﬂ.@@ﬂm N (Rabatak inscription) % 3§ g
Eocks ! o T & .w . () Water 77. Which one of the following statements about
. Ew . : (d) Hydrogen Rabatak inscription is not correct ?
%ﬂm._maaaﬂgwﬂﬁﬂiiwﬁz @ Wﬁaﬂﬁﬂﬁdﬁa@ﬂ :
’ Nﬂm _ It 3 .
%ﬂw& 2 I frm u,u_ Mw% Bspic % Equal volume of all gases, when measured at “ EHSM important light on Kushana
? g
? b) T Firs BT * TT @wa the same temperature and pressure, contain genealogy.
an equal number of parti
(a) =T Aormlmmv Ww mm.u Ww ) mu@.ﬂ Wﬂﬂ - W | %Mﬂ.ﬁ the aliove law 7 of particles. Who proposed () It refers to Kanishka as ‘a Em of Eb.m
. ) S
(b) Sy (Boyle) ©  235fwm - and a son of God’.
© R W_ﬂ._@ﬂw T . (@) Charles
wﬂ&d@géwwng w_m_,ﬂaw | g ..
@ ) ® Boyle (¢) The 23-line inscription is written ;
in
Sgey (Lussac) @ g T 3 - Gandhari language.
(
ASGT-F-ENG % sy ¥ w3 | ww.ﬂ w it ﬂw_ﬂm ¢  Avogadro .
(d) It mentions names of States whj
(16 (@) Lussac ch were
-p) part of Kanishka’s empire.
ASGT-F-ENG
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78. Tafafeas & @ =W, wRg w=a 79| s2.
‘geFHIeH (Mrichchhakatika)’ T THATHR o1 ?
(a) I
(b W&
(c) arefifs
@ EF

79. I faefafaa # @ fFa =9 =1 wEw
a1 ?
(2) AN 83.
() WaTS
(c) WA
(@ i

go. Tr=fefad # @ fra wEs I Ty awsT A
TSuHT & €9 F greforgs i T i ?
(a) Tafemm
® fogam
© g -
@ omH

81. fr=fifad @iesl (astronomers) # ¥ foraa
7 fag forar & gedft ot o 1 @ & 9
3R afehar Fa & 2
(a) HIRAFT
(b) HIW
() Wefifa
@ =

ASGT-F-ENG (18-D)

freft HAT qee) WY 01 kg/s #
wm_mﬂ nw%_.m @2 w© H 2 m/s H ? Who among the following was the | 82.
x 3 wem @ ¥ R T T fr U  author of the famous Sanskrit work
il ‘Mrichchhakatika’ ?
et T ST @ 7
(a) Kalidasa
@ ON (b) Bhasa
(b 02N (¢) Valmiki
(¢ 10N (d) Shudraka
@ 20N
79. Yashovarman was ruler of which one of the
. following kingdoms ?
m.owmwﬂﬂu%mmwpaﬁaﬁ*ﬁ%mﬂ ] 83.
31 ¥ fore Receft W el ® 2 (Tocei (@) Kannaw
T 10 m/s” A Q) () Mewar
@ 80W () Marwar
~ (d) Kalinga
(b) 160W
© 320W 80. Which one among the following rulers
d 640W established Pataliputra as the capital of the
Magadhan Empire ?
N (a) Bimbisara
2-0 k T T . 84.
g S H . Aﬂ(mw (sdTh) T 3-0 kg @) Bindusara
ZH % TR WS (1) F I T@ R | ©  Aatachat
6 s . c jatashatru
2 @l % ot wfveh oo o 0.2 } | AR
. (d) Ashoka
T @ H & 59 F A 0 @ e o @
5 3 de & A fe wd % Rew § | 6L Whi
. ich one of the following astronomers
ol &R 2 ¢
10 mis® A g, w0 T w proved that the Earth and other planets
& I e & 2 revolve around the Sun ?
(a) 50N (a) Copernicus
(b) 30N (b) Kepler
(c) 4N (¢) Galileo
d 10N (d) Newton
ASGT-F-ENG (19-D)

) Um: at a

eyor "
Sand falls vertically on 2 noﬁ<WMmﬁ the pel
rate of 0-1 kg/s. In order to 2 m/ss the
moving at a uniform speed oﬁ:w pelt s
force required to be applied o1
(a) ON
() 02N
¢ 10N
d 20N

The power HB&H@& to lift a mass of 8-0 kg up

a vertical distance of 4m in 28 is (taking
acceleration due to gravity as 10 m/s?) :

(a) 80W

() 160W

() 320W

d 640W

One block of 2-0 kg mass is placed on top of
another block of 3-:0 kg mass. The coefficient
of static friction between the two blocks is
0-2. The bottom block is pulled with a
horizontal force F such that both the blocks
move together without slipping. Taking
acceleration due to gravity as 10 B\mm. the

maximum value of the frictional force is :

(a) 50N
(b)
(c)

@

30N
4N
10N




.. . ing
g5. Wl SN Th mﬂﬂw § W & St Featuc | g8, freifeed TRIY AT (circuit element) § 3 i the mon%ﬁu
e W w | Far # Seied fw gt @ oy foreet 27 5. A mass is attached to a spring that hangs | 88. What is the total resistan®
6cm 2 | SgAT R g W uﬂﬁ TR T HH, R vertically. The extension produced in the circuit element ?
gt Hag W Todl @O % AW H T , spring is 6 cm on Earth, The acceleration due R
| Rl w | Sgm W A &1 faww . to gravity on the surface of the Moon is
, qm 2 R one-sixth of its value on the surface of the R
R Earth. The extension of the spring on the R
(@) 6cm @) R/2 Moon would be : -
{a
(b) 1lcm AS 3R (a) 6 cm ®) 3R
© Ocm © 3R/ (st © 3R/2
(d 36cm (d 2Rf3 (¢¢ Ocm @ 2R/3
d) 36cm
- . . ; heme(s) is/3T
6. Frefofem & ¥ sha o 89. YRGAIT TR % St FrefiRad i3 89. Which of the following SC w 9
(Lever) &1 , Lokl %ﬁlﬂn_wv i 2738 included under Bharatmala Pariyojana
ver) T IgTET 8 2 ? 36. Which one of the following is an example of Develop th 4 connectivity 0 porder
i : 1. evelop the road co
1. S d Class Lever ?
@ S (A pair of scissors) i &5 7 SF U R T econd Class Lever areas
(b) e AR (bottle ) s ! (8) A pair of scissors 2.  Development of coastal roads
opener, o )
) Trves e 8. T e e 4 gurR () A bottle opener 3. Improvement in the efficiency of
il i) mﬂ National Corridors
:ﬂﬂmﬁu&dﬂmﬁ%%wﬂﬁ (¢) A cricket bat
(d) g9 Rk @ 1 Select the correct answer using the code given
(d Abow and arrow below :
e ) ¥ 3 (@ 1lonly
87.
uﬁMMaq?mm, 00 RY = w x| © IE@esivs o ® 3only
- ™R | gl W TR G 87. In an electric circuit, a wire of resistance 10 Q
T T R HFThH @ 123K ] (© 2and3only
e TR (original value) 3 w&& , 3 is used. If this wire is stretched to a length
T, T o 3 o double of its original value, the current in the ket
90. T , circuit would become :
@ ST S o o oy T 96 e A1 & e e o
| ! @ halfofi . 90. Deendayal Port was earlier known ag -
® (@ Ty - ) of its original value. S @
RIS o 6 TR mof (a) Paradip Port
| ® ) , ()  double of its original value.
© 3 R 7 St TP e (b) Tuticorin Port
; &l STt | © . , (¢)  one-fourth of its original value.
d) TR PISAT T (¢) Kandla Port
A 9 T 8 T | (d) four times of its original value.
ASGT-F-ENG d) Eu:dﬁﬁs o (d) Visakhapatnam Port
ASGT-F-ENG (21-D)
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ol %%%%ﬁ%ﬂgﬂﬂﬁ%
iwa%ﬁ%}%ﬁa%
ﬁﬂ%%mﬁﬂgw_ﬁﬁg

@ ﬁagﬂﬂm%m@z@ﬂﬁw

Aommvmumvﬂﬂ@%m_
(b) ﬂ%%ﬁﬁﬁmﬁ%m_
(©) gﬂwmaumﬁﬂwﬂ@%m_
@ e i v fafE R |

92. %mw%&ﬁﬂﬂszﬁm%

i i g fm 7@ &
(@) i B

(b) SiEgsd el

(c) IR (cytoplasm)

@) AR T

93, W T UT F TYFV (browning) Hl F8 FHT

FAF R 1w R 2

(2) EM el TE H1 YA FH
(b) ot w3 i wh

(© i W H I T

@ freen 3w Aehftmn = @ =

%9 & =it o g

@ ¥, =7, M, ¥y
® S, 527, B, wiwn
© 9, =, 129, W
@ A, W, W, Wi

ASGT-F-ENG

:'g

=7

94, TN TRIHEH N I T Wmmwmﬂ

98.

(22-p)

95.

97.

%mw@mﬁﬂsﬂiﬂgg
%wmﬁ%mﬁaﬂw@mggw

(a) &mﬁﬂ%
() T R

© JEE

(@ S T werh I

. ﬁﬂﬁmﬁmﬂﬁmm&wi%%ﬁmg

1 e Y @ TR | e freforfea 33
e v 61 SR % HROT el B 2

(a) T AfIsRAT
(b) FTEe AT
(0 S s
@) forcamaa rfirfsean

& T % o e § & B o
ué 7 37

(@ TR @ (RTE W) & §d b
@

(b) e F T @
() IS & o & @
@ 9 F T F @

TR fFefafaa .
wﬁﬂﬁiww@mwﬂﬁ@%%

@ A e =) serd w0
®) TR % e g

@
- TR & IR Ffwm 6 7@ @

®)

One advantage of sexual reproduction over
asexual reproduction is that it helps species to
survive over long evolutionary time. This is
because sexual reproduction produces :

91.

(a) more offspring in each reproductive
cycle.

(b) robustand healthy offspring.

(c) mou&nmzw similar offspring.

(d) more variation in offspring.

Which one of the following structures or
components is not always present in living

92.

cells ?
(a)
(b)
(©

@),

Cell wall
Plasma membrane

Cytoplasm
Genetic material

Browning of the chopped apple can be

minimized by :
(a)
(B preservingina container.
Wv\ using lemon juice.

d

using tablé sugar.

using milk of magnesia.

94, Which of the hydrocarbons are arranged as
per the increasing order of their boiling

points ?

(a) Methane, Butane, Propane, Heptane

(b)  Propane, Butane, Pentane, Octane

()  Propane, Butane, Heptane, Methane

(d)  Octane, Ethane, Methane, Propane
ASGT-F-ENG

(23-D)

917.

98.

tus
£ the following appat®’” 7
Which one © cor T
for separating penzene and W2 B
(a) Round bottor flask
(b) Conical flask
(&) Separating funnel
(d Deanand Stark apparatus
te
p . m&ﬁ?&
An iron nail dipped 11 copper 7ich o8 e

This is due 0 ¥

solution turns brown. A
f reactions *

of the following types ©

(a) Addition reaction

AE\ Decomposition reaction
(¢) Substitution reaction
(@ Displacement reaction

Among the following, which is not the correct
method for keeping the curd ?

(a) Keeping in stainless steel vessel
(b) Keeping in copper vessel

(¢) Keeping in plastic vessel

(d) Keeping in glass vessel

Toothpaste prevents tooth decay by :

(a) neutralizing the excess acidity,
(b) means of emulsification,

(¢) the action of fluoride,

(Y]

making a coat
of calcj
um oy
er

surface. the vmmz.



99.

100.

101.

. 3 3 fowl T B ey

PwO._..ﬂ.mz IS

@i S e Feell foat TR &
off 7
(a)
®
(c)

d

frdt fee #

I BN AR A
g g d

1893 — 1894 % forar fage #

LECEIUR Aﬂmng%mw_ﬂ@@mm
IR FEA TR R?

(@ o F @ff Rt T IEfea
foram mm o |

WATIG: 99 (ancestry) % TR W 778
fuam & |
ﬂﬂmﬂ&%ﬁ%wﬂﬁﬁﬂ?ms
A FeAewh W g gfea fn
T o |

wEeer  w off e g T
foran <man o |

(b)

(c)

(@

aTE % R TR e W BRw ae §
—— g
A Frart e T8 ot 2

(a) d.m.m%

®) 8 e (Vansittart)
(0 o ew

@ & FHafmg

T R o 2

(a) gfqoy

®) 7 T
(c) mz.:@mm
@ il

103.

104.

105.

pferian 3 @ fr T T Ry
%%mﬁ,w%&w _
(a) &

) fasEam

(c) HIAdT

@ W

frafifad § @ fre F W 9Rd ¥ Shwr g
X oyt w9 2

(a) T&ET (Chinsura)

(b) 5w (Karaikal)

(© WI§ (Mahe)

(CY N%A?mbnumcﬁv

TF A ABCD, f %4 gl a1 aqd @
¥ R T gon 2, fe A ok B A i
o 2f 31 3f 1 g W E, 3N AB yF

R w | 3 m&f 101. Which Governor General of Bengal underwent

A SR AB'CD T ] | BCH A
q I R ?

(@ 1

(b)

(c)
d)

ANAIUV

WD N N

99. TFreedom fighter Kanaklata Barua was | 103.
martyred in :

(a) Sepoy Mutiny

;

(b) Quit India Movement

(¢) Non-Cooperation Movement

(d) Peasant Uprising of 1893 — 1894

100. Which one among the following statements 104.
about the Mansabdari system is correct ?

(a) All army troopers were allotted
mansabs.

(b) Mansabs were usually assigned on the
basis of ancestry.

() Position and salary of mansabdars were 106
indicated by a numerical designation )
called zat.

(d) Mansabdars were never paid in cash.

impeachment proceedings in the British

Parliament ?

(a) Robert Clive

(b) Henry Vansittart

(¢) Warren Hastings

(d) Lord Cornwallis

102. Who among the following composed the

‘Prayag Prashasti’ of Samudragupta ?

(a) Harishena

(b) Chand Bardai

(¢)  Vishakhadatta

(d) Kalidasa

ASGT-F-ENG
(25-D)

ms W5

Which one of the following EHMHW . "nd

founded by the tWO prothers H

Bukka ?

(a) Bahmani

(by Vijayanagara

(¢0 Malwa

(d) Maratha

At which one of the following places did the
t in India ?

Danes establish their settlemen

(a) Chinsura
(b) Karaikal

(¢) Mahe

(d) Tranquebar

A rectangle ABCD is kept in front of a concave

mirror of focal length f with its corners A and
B being, respectively, at distances 2f and 3f
from the mirror with AB along the principal
axis as shown in the figure. It forms an image
AB’C’D’ in front of the mirror. What is the
ratio of B'C’ to AD’ ?

@ 1

[

(b)

(c)

d

Wi |-



106. o # & gwaw gdw XY R YZ XY L1 Y2) 108. aTEEA

zofg M €, S o PR w g & 1 T oAt
it @ 6 F # & ww o W s A
o et ® o 3@ famm & oo
oI 9 T & Wi SRt A R | 3
3 il R 7 Rl xvz A w0 @
oo W @, S f5 ogutm mm @ |
vfomrasd, # wWafdd few q@ wafda
g@%nﬂw.«?

%W@A?@@dmw

FUA G TgT 8 ?

(a) 9°9 4R (blowing jet) ﬂﬂ.&ﬂ .
I TR (note) Ve &ww

AT e |

(b) 4HA ¥UR (blowing jet) W mdmm.uﬂs

A, 39 & (note) F Ry (pity
fuifta T 2 |

© wigh ¥ fiw & Fmmm

@ g0 % w3 g %
ﬁﬁﬂﬂﬂum@ﬁg@ﬂwﬁgw_

Sw.gﬁﬁmmﬁﬂ,ﬁws@ﬁa%

X!
\ X
\
\
/
\ \\\ z
\ P
\ -
0
Y Z
(@ a=0
(). a=6
(c) oa=20
d oa=46

: fa
1 3R 3 @ @ | o s

(@ I foam #t iR g s e |
® T e A si i wer coim |
© 9w o 1 i fedow 7w i |

W vt ey @
V1 iwuﬂ.a
T b i 3 | R
%iw.ﬂwgﬁwﬁmﬂw szﬁ.ﬂﬁé
M%%ﬂ#&ﬁgm@«mw pe R & @ [ 110, Arerffg 5
<M#.$wm.m.cﬂ~w‘w . T vy T 2o 3 F-a, TgE fieed
o B (@) &
® WEN«%A.WEE\N b
2 2 qu i
© My, =y, ©
C, -
(d) My, < My, ﬂ_%#ﬂwgmﬂ._ww
ASGT-F.gng @ ¥
ANQIUV

#

06. Shown in the figure are two plane mirrors XY
and YZ (XY 1 YZ) joined at their edge. Also
shown is a light ray falling on one of the

cted back parallel to its

mirrors and refle
of this arrangement.

original path as a result
The two mirrors are now rotated by an angle

9 to their new position X’YZ’, as shown. As a
result the new reflected ray is at an angle o
from the original reflected ray. Then :

(a)
(b)
(O]
(G

107. A railway wagon (open at the top) of mass M,
is moving with speed v; along a straight
track. As a result of rain, after some time it
gets partially filled with water so that the
mass of the wagon becomes M, and speed
becomes vy. Taking the rain to be falling
vertically and water stationary inside the
wagon, the relation between the two speeds v,
and v, is:

(a)

vy =V,

1

b o) 2 1
(b wgquME%W

© Myv, = Myv,

109.

110.

@  Myv; <My,

ASGT-F-ENG
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. ot
ements 1% "

i ti
108. Which one of the following sta g )
true for a flute, 2 musical instru et
wing
(a) Momentum of waves ont the blo Hcﬁﬁam&
determines the loudness of the P
note. e
(b) Arrival time of the waves ou». e
blowing jet determines the pitch ©
produced note.
. : £
(¢) Sound comes from a vibrating column O
air inside the flute.
) Sound comes from a vibrating column of

air inside as well as outside the flute.

A positive charge is moving towards south in

a space where magnetic field is pointing in the
north direction. The moving charge will

experience :

(a) a deflecting force towards north
direction.

(b) a deflecting force towards east direction.

(¢) a deflecting force towards west
direction.

(d) no deflecting force.

Which one of the following is nof a main
greenhouse gas ?

(a) Water vapour

(b) Oxygen
(¢) Carbon dioxide
(d) Methane



111, 3 weaR FAGR FET, S; R s, T F g | 13-

o ) & § ol et wrerd 7 &, o
fo & zqfT T R | S, & 10 kg F1 Th GoAIH
e o & 1 AR 8 I S, T USH FH:
W, 3 W, &, @

5,

i

10kg

Sy

(@) Wi=5kg A Wy=10kg

® W;=10kg 3 W,=5kg

© Wy=5kg AR Wy=5kg

@ W;=10kg 3R W,=10kg
112. 20 m 39 Y4 % R
TH T 12 m/s 6
MmM%aﬂwjgw_ﬁﬁuww
4 A A TR 1 g = 10 mis? 2y
ﬁuﬂ@m%%ﬁﬂ@mﬂﬂu ®
B ) R g

(a8 R=12m
() R=18m
(¢ R=24m
d R=30m

ASGT-F-ENG

114.

Awml_uv

T & T @ FH G e R v

ﬂﬁﬂ#ﬁﬂﬂj%ﬂ.ﬂ.—w _mﬁJ
ﬁiﬁmgzﬂﬁmﬁ%

A I H

a<g @ M&M._Muwm__gﬂm% MM_Mf
arm it % 70 w1 g iR 4 g
FHT T A G G I LV R 1A '
(a)
(b)
(c)
@

f=f;
mnalmvm
A.NV».H
WNHM».H
Q! 99T U (container), X 3R
! Y, T 3
% el g0 T WG W w
&ﬁﬁﬂﬂw@«:@@mmﬁy
TR | IR UE X % Si h $OE 05 G
59 W g 3 9 Y e @ | S et W
SR, @ A i § @nm wE R @
e ) RIS | X (T
& W) 77 A i R o
megﬁ%@m—ﬂimwww%

)

111. Two identical sprin;

112.

g balances Sy and S, are

connected one after the other and are held
e figure. A mass of

vertically as shown in th
If the readings on

10 kg is hanging from Ss.
S, and Sz are W, and Wy respectively, then :

51

10kg
(a) W;=5kgand W= 10 kg
(b)
(c)
@

W, =10kg and W,=5kg
W, =5kg and W,=5kg
W, =10kg and W, =10kg

A stone is thrown horizontally from the top of
a 20 m high building with a speed of
12 my/s. Tt hits the ground at a distance R from
the building. Taking g = 10 m/s2 and

neglecting air resistance will give :

(a R=12m
(b)

(c)

R=18m
R=24m

(d R=30m

ASGT-F-ENG

113.

114.

(29-D)

made of 2 Bmemdwu
While °2

s volume

me V is

A sphere of volu
an water.

with lower density th
Earth, it floats on wate:
fV@E <D submerged. On

a spaceship accelerating wi
a<gl(gis the acce

Earth) in outer space
in water is f,V. Then :

th

leration due
its submerge

@ f=hH
a

(b) »,nuG|MK.H
© f£>hH

a
A&v ».N = M m.H
Two identical containers X and Y are

thin tube of

ttom by a
tube has a valve in it,
as shown in the figure. Initially container X
has a liquid filled up to height h in it and
container Y is empty. When the valve is
both containers have equal amount of
liquid in equilibrium. If the initial (before the
valve is opened) potential energy of the liquid
and the final potential energy is Py

connected at the bo
negligible volume. The

opened,

is P;
then :

o

i
N,

WLy

(a)
(b)
©
(C))



. ¥ TgER wg9 Fey i
@ ga # e T 119. %ﬂmﬂﬁ.&ﬂﬂﬂ §
" Mww,wgww;%ﬁﬁaw | mada@d e
S&mﬂ%ﬂﬂﬂ_w%ﬁﬁw%m@ (a) s o GAl (Pleistocene) 3R Emﬁa
aitgq @ = ?? (Pliocene)
(@ v ) AP (Holocene) IR Id L
R (Pleistocene)
o =~ © o A (Pleistocene) 3 Ty
Nmn (Miocene)
(c) Wuﬂﬂ (d) a1f¥a (Holocene) IR ,ﬂnwnmﬂ (Eocene)
@ 0 120, Frefefn & & Fan, Ry T A& F T
3 mnm.@% .
:m.gwﬂﬁmﬂ%ﬁsg@ﬂﬁﬂ%zw “Mmﬂ Mu,\ %) % w4 7 fmm
.&mﬂﬂ%m_umﬁmmmw&mﬂﬁs 3 ’
600 2, 3 38 g fig T wriEe e o @ v >geEd > g > A0
1 e foree Fie & 2 ® Few > gt > W > TF
. o g3 e T
(© 50N @ mﬂ.v&.&v%vﬂmﬁa
@ 67N !
121, Fefefaa § & SR, sha g 727 8 2
117, Frefeen @ i, s e 7 2 2 @ Rl SR o
@ e o) g s o
(b MA (© e AR
(c) =
@ @ "R
. Pt et i @ 9 122, WISHICAE (Podsolization) 1 ST
L ﬂmwﬂﬁmﬁanwuﬂmvmuw\wuwﬁ%w\mw @ﬂﬂ%mﬂ#wo * i
\ Mﬂ@ﬂﬁ?&@%%%w% M”v frgadir a7
gﬁ@ﬁ@ﬂwwﬂ&mgiﬁ (© ¥me
8. Pl g ¥ wed @) werETTy
. g T
ﬁmﬂm@iﬂﬂm_ ity 123. N
T e H1 i 23. @
(a) 132 FHE I g g.@ﬂwww%““ Sword 23) WI® ¥
® 233 @ W ol o T o1 9
(0 13K3 ® ST
@ %ad 3 © %ﬁ%%mfcme
(USA) 3k
ASGT-F- S
GT-F-ENG @ T sk

AQOIUV

115, A particle is moving id @ circle of radius B | 11
with a constant speed V- .:m average
wan&m—.waon over the time when it moves over
half the circle is :
2
v
@ g
2
v
(b) 2R
© g3 120.
nR
d@ o
116. Two forces of 5:0 N each are acting on 2 point
mass. If the angle between the forces 18 60°,
then the net force acting on the point mass
has magnitude close to:
(a) 86N
(b 43 N
«) 50N 121.
@ 67N
117. Which one of the following is not an igneous
rock ?
(a) Granite
(b) Slate
(¢) Basalt
(d) Gabbro
122.
118. Which of the following statements is/are
correct ?
1.  Hypocenter is the point on the surface of
the Earth, nearest to the focus.
2. Velocity of earthquake waves is higher
in denser materials.
3. P waves move faster and are the first to
arrive at the surface of the Earth.
Select the correct answer using the code given 123.
below :
(a) land2
(b) 2and3
(¢) land3
(d) 3only
ASGT-F-ENG
(31-D)

e
scale th

In terms ©f mmo_om.maup ﬁuu».@ w0 ep0 chs-
quaternary period consists ©

They are :

(a) Pleistocene and Pliocen®

(b) Holocene and Pleistocen®

(© Pleistocene and Miocen®

(d) Holocene and Eocené

Which one of the following is the noﬁnm“
sequence of arrangement of the giver w_wuﬂb
in descending order of their density
m.B\nva ?

(a) Earth> Jupiter > Venus > Saturn

(b) Jupiter > Earth > Saturn > Venus

(¢) Earth> Venus > Jupiter > Saturn

(@ Earth>Venus> Saturn > JupiteT

Which one of the following is not a cold

current ?

(a) Western Australian Current
(b) Eastern Australian Current
(¢) Benguela Current

(d) Peru Current

The process of Podsolization is predominantly
found in :

(a) Equatorial forest

(b) Monsoon forest
(¢) Taiga forest
(d) Mediterranean forest

Joint Military exercise ‘Keen Sword ?
conducted between : v 28" was

India and Japan
India and USA
USA and Japan

(a)
(b)
()

(d) Japan and Taiwan



124, 37 T (epic) a1 Y w1 g, Wi | 127, fefofEd F & w9 9¥ 2022 F oy
qRfRfeat & Wt &1 grT b o & e Fae R A T 2 ? RIE . .
o7 @ 30 124. The Battle of Rezang La, an epic battle in
5 . . K hostile conditions, was fought by the Indian
(@) 1948 (b) e foree ,, Army in:
) 1956 () W& Aeee T (@) 1948
(©) 1962 @ & ¥ i ) 1956
@ 1972 128. R ey doT & Gay h (© 1962
) T R B - et @ 1972
125, %mﬁmm t fafrer-22 (Exercise Sea Vigil-22’ & 1 Sham Y - Ay
efeifed Ferl W fER Hfere G w&%zﬂ:wﬂ i 7 125. Consider the following statements about
1. A R o gan ok wd 2. Fa% BN ‘Exercise Sea Vigil-22’ :
87 ¥ yRg 6 A 7 % 2 s @@mwﬁ # h B 1.  Its aim is to assess India's preparedness
\ SThHT FET 2 | 2 5 in the domain of Maritime security and
. USA 3R oM ) nd o 5w s & wife iy 7@ B qur - coastal defence.
wg.—wﬂ% | ™ BT i COl-Ci| %Eﬂﬂﬂ 2. Naval forces of USA and Japan also
- MR (extrac ellular matrix) %mq w took part in the exercise.
3 _wmw U A ﬂu.ﬁq\mm_u—.@ gt w\m ? Eic] .Wﬁ T e & i = ud I ! Which of the statements given above is/are
@ a1 @ 3 w.mm . correct ?
® ¥Eero ® Fa w . () diemly
2
¥ (b) 2 only
© 130 23 MM 13k 3 (© Both1land2
1,2
@ TN 1,T3@ 9 M 3 (d) Neither 1 nor 2
129, fafifen &
126. Frffas et LA : '
. R famm Hife . PR Gnogonoww.vﬁw ﬁﬂn: Hﬂ.ﬂ% 126. Consider the following statements :
L ¥ W g R (@) =i ARy AL 1. England i
A ICC T20 Ryvg . ngland is the only country that won
AR St | b) TG
the ICC T20 World C i
d Cup twic
2. faw Higet U R 5 (© mﬂﬂ ’ -
Wﬁuﬂm&g . ? m%:oo T20 @ 2. Virat Kohli is the only player to be
(R 3 T 1 ity Ry TN (Plasma m j
ST 2 i) 53 | 13 embrane) adjudged as the Player of the Series in
S5 ot A I 0. Y Fifemmr the ICC T20 .
q mwxg\ﬂj@ w0 . ST DNA d ’ Wﬂ@@d ¥ et World Cup twice.
(a) F3571 ? A 22 Which of the statements given above is/are
a) Ww,ﬁ 3R 3 correct ?
(b) Faer AL ARy
) 2 Reticulum) (Endoplasmic (@) 1only
: e 1 3 (b,
3R 2 3t ) TR 3 ey ® 2only
( ]
d) Ta 1,782 c) T (Mitoch, ; | (¢) Both1land?2
< () ondria)
S6T-F-ENG ) e s o K e @ Neither 1 nor 2
: § (32-p) (Vacugleg) ASGT-F-ENG
ﬁ (33-
Wi e

N e s T T

. f
wing is not 2 Hmnumzmbw °

127. Who among the follo
y try in 2022 ?

Nobel Prize in Chemis
Carolyn R. Bertozzi

(a)
(b) Benjamin List
(¢) Morten Meldal

@ K Barry Sharpless

Consider the following statements regarding

128.

cell wall composition :

1. Bacterial cell wall is made of
peptidoglycan.

2.  Fungal cell wallis made of cellulose.

3. Animals lack cell wall and have
extracellular matrix made up of sugar
and proteins.

Select the correct answer using the code given

below :

(a) 2only

(b) 1landZ2only

(¢) 1and3only

d 1,2and3

129. Which one of the following structures is no¢
present in a prokaryotic cell ?

(a) Cell wall

(b) Ribosomes
(¢) Nucleus
(d) Plasma membrane
130. In a plant cell, which one of the following
contains their own DNA ?
(a) Nucleus and Endoplasmic Reticulum
(b) Ribosome and Golgi apparatus
A\S Mitochondria and Chloroplast
(d) Chloroplast and Vacuoles
D)



- \aj 04§_§§H>m W_ m«ﬁdﬂdﬂ.ﬂﬂw.» /‘r:ﬁ.ﬂdm
(b wgmﬂﬂﬁ ( @ TRy Ty
w@m.w._.u# o/ @#wu.ﬂ._.m.ﬂm_ﬁ_mv W 37 St (b) IREe 131. Which one of the following statem
# s Hehelt W | mdﬂ._.@v Iy (c) X-rays is not trye ? ents about | 134. Which one among the following states is the
) TSI leading producer of M in India ?
(c) MJWM ¥ Q.Wnﬁ@ﬂq Y W w& @ Fafes (@)  They have Wavelengths of about 1 A, (@ Madhya Hu“MAom Mbmwbmmm in Indi
2 nferdt 3 e T - d . ()  These can be generated by roarmhm. A Wi g
qhat in,
@ v 35. ¥+ F7 T w7 3§ S - Mdﬂ.— a metal target by high energy m~mnn~.cbw.m (©  Rajasthan
IS e ad . @
TR mﬂ“ﬂmﬂ * * 3 ) % R +ft @ e si ¥ 3T b ©  Due to their wavelengths being shorter Harnataka
BIGI W | (b) ﬂwﬂ wﬂ.m S— Nﬂus ,w these can be used for radar systems. ’
3 d 135. Mica is mainl d in :
132. fafafae o & . o - il @ MMMHMM s food for the treatment of @ food E,M MM i dust
: = (d) Tms of cancer. erage industry.
—_— .W , g1, &g 0 %ﬂw WﬂJH wgﬂw Nﬂ.v_u._um ¥ (b)  iron and steel industry.
? . (¢)  alumini ind:
M.WWM 132. 'um in .
(a) u—% _N&_ 136. * 32. Which one among the following is the (d)  electrical and — - .
. m_m_m_w m%..n.mﬂd— * ﬂwﬁﬂ_ . northernmost geographical location ? rical and electronic industries.
) WleHig AL Fefofen & 3
(a) New Delhi
T R 2 A v Diclhi 136. According to Koppen’s climati Ficati
© Eﬂﬂ, g ppen’s climatic classifications,
(a) >3ﬂﬂm,@ Avv\ Kathmandu the Great Northern Plains of India have
@ <= b Cw which one of the following climates ?
g 3 () Thimphu (a) Aw climate
(c)
133. Fr=ffag : d) Amw STy (@ Dhaka ()  Cwg climate
. HeET 9T .@ﬂ._ﬂ. m@._/ﬂﬁ . U».od—mmqw (¢©)  Amw climate
) . . (d Dfe clim
1 MM@ j2C 3R féqoft 49 | 2y % . 137. @R N N 133. Consider the following statements : ¢ climate
% biG B St 2 - \ﬂJﬂw. N L1 frfafaa & @ 1. Distance between the longitudes 8
2 Wﬁm«m . T T 8 2 becomes zero on North Pole and South 187. ﬁ:.ho,r of the following statements about
TT R wall F g & 0 L 3odmae a Pole. Lachit Borphukan is/are correct ?
Hftrepay Bt 21 2 3 N e 2. Distanss Bibwesn the longitudes 1 1. He was a General of the Ahom Force.
3. Qe I T Ly . ic] g T ¥ o wmm % fm maximum on the Equator. orettudes 8 2. He is known for his leadership in the
R &, et Heqr 2 | a - Battle of Saraighat.
| 3 ,Qmwﬂ 3. Number of longitudes i i -
3 : @ gitudes is more than 3.  Lachit Borphukan Gold Medal
Na@mm 3 a m#mﬂ.ﬂ- ThTeH % I He H @ number of latitudes. to the best cadet at the Hmﬂm.“wh
] mn_u.ﬁﬂ\m%-u—..@ U 2 uf U fear smar 21 X Defence Academy.
3 ,EAq_.ﬁ Which of the statements given above is/are i
(a) Wﬂﬂ. 1 MN T wﬁwd T d% W M.WH . correct ? w@__man the correct answer using the code given
elow :
(@ 1
(b) hae 2 23R 3 @ lonly @ 1,2and3
(© Wmﬁ 13K 3 ® Wﬂﬂ 230k 3 ®  2only (b) 2and3only
() W«mﬂ 1 (©) 1and3only (¢) 1lonly
@ 1,23R3 @ 1,2and3 (@ 2only
@ Fee g P

ASGT-F-ENG AwAlUv ASGT-F-ENG (35-D)




¥ srem ‘grf (DUSTLIK) 1 <o
HERWT gl A& fomar mar o ?

(a) THEd

(b) T

(c) Toeivrre

@ &

139. T & # ISRO gRT YWIf¥d (launched) T

Qv

freafafga @ a2 2
(a) HIEEE (Skyroot)
(b) I (Prarambh)

(c) S¥h (Bazoomq)
(d) RS (Vikram-S)

140. F=fafaa 4 3 g w9
e 247 e e . o o

= ?

(a) wTAfTAN, deTery
(b) IV, T

© R I, sRomee v
@ s, feree ww

141. Frefafes & ¥ Ry
T H i :
feaw s, 200341 %%Mqu% usﬁ

(a) IWES

(b) &
(c) Td
(d) IR I

ASGT-F-ENG
(36-p )

1‘!

138, WRd 1 ok SfeE & % oW E3W 142, YUF FE @6 F F A Co, 5
Sy
H

art S (organism) FT Fgem § 5
(@) w@nt
(b) T
(© St

(d) ATEH

{7 (fermentation) St % & % 7z X
ﬁ@w_wﬁw%ﬂnﬁﬁaﬁzﬂqmawawu
(@) ATP +CO, + THid

(b) ATP + 0, + TIgEde

(©) ATP +CO, + dfFes g

@ ATP + 0, + THifeeaTse

144. T TEn @ <hm, fedt e 3

ferenfl 71 S (epidermal leaf peel) 3 @

SR Her (Hypertonic solution)

ﬂ_wﬁmﬂn_w_m Wﬂq | $9 @wg @, 3@ faed 3
3 S

e Wﬂmﬂu Tl f, R

@ 3 T e
® 3 m#m._uﬂﬂo .
off | s (plasmolysed) am

© = P
3 whfy
Pressure) ST | o (turg?”

(d) uuwwzwﬁﬂ
@ B A (sige) I

4 edition of joint military exercise

138. The
DUSTLIK’ between the Indian Army and the
Uzbekistan Army was held in :
(a) Ranikhet
() Gangtok
(c) Pithoragarh
(d) Leh
s first privately

189. Which of the following is India’
unched by ISRO recently ?

developed rocket la
(a) Skyroot
(b) Prarambh

(¢) Bazoomq

(d) Vikram-S

140. Which one among the following villages was
recently declared as India’s first 24 x7
solar-powered village ?

(a) Mawlynnong, Meghalaya

(b) Modhera, Gujarat

(¢) Ziro village, Arunachal Pradesh

(d) Malana, Himachal Pradesh

141. Tableaux of which one of the following States
was adjudged the best in the Republic Day
Parade, 2023 ?

(a) Uttarakhand
(b)  Punjab
(¢) Gujarat

(d) Uttar Pradesh

ASGT-F-ENG

142. Organism

143. When

carbon source areé called :

(a) Autotrophs
(b) Heterotrophs
(c) Parasites

(d) Decomposers

yeast cells are 0, starved, fermentation

This results in

serves as the source of energy-

the production of :

(a) ATP+COz+ Ethanol
() ATP + Oy + Pyruvate
(¢ ATP + CO, + Lactic acid

d ATP+O0,+ Acetaldehyde

144. During a laboratory experiment, a student
immerses epidermal leaf peel in a hypertonic
solution. After some time, the student
examined the cells under a microscope and

observed that :
(a) the cells swelled.
(b) the cells were plasmolysed.

(¢) the cells built up turgor pressure.

(d) the cells size was unaffected.

(37-D)



SEde TITIRTERD TR iE=dl, 99 (fungt) <l 1dIRT8

a&T 757 2 2
(@ Hiftw R Frefer 6 ot B 2

) Mﬂuﬁgﬂuﬂ%@ﬁvmﬂﬂ@a

© 3 THI-ERAT I qwy §
@ sﬁm_ﬂ&ﬂf«&duﬂm%m

Za.miﬁawwﬂ.immﬂw_.@mﬂ&mw

T, T T 2
(@) T g () g2 |
(b) wuﬂagﬂwﬂaﬂéiﬂwm_

o Mﬂaﬂaﬂmz_&waﬂ%@@w_ﬂ
|

) an__wmﬁ SIS FHas e ME

Eq.aﬂﬁsaquw&ﬂ&w@ﬁﬂ@ﬁﬂ(

149. T F It ¥ way
ﬂu.ﬁﬁum%u%w@

(a) wﬁww*wwdﬂ—.mﬂ_ﬂﬂw_
(b) @dm&ﬂuﬂaaﬂw I

© FH= (Fullerene) w7elq =y TH AT
7

@ Mawﬁ.wﬁamﬂmd%ﬂaﬁa
|

150. mﬂ@@dm@ﬂﬁ? it % fafmio #
e vgfi 2 o

@  INRATE W9 (Ostwald’

s process)

(b) Fary NH (Haber-Bosch process)

AT 1 P i 2
) @ﬁ%ﬁﬁﬂ%ﬂﬂ#@nﬂz
&
b) n&ﬁ@uﬂmﬂﬂ%ﬂgwﬂ@nﬂnﬂ
&
(c) NTHfa® gy wm sy

(d)  HIFHIH Ft T Rrwrrdt s

ASGT-F-ENG

© Wﬂm W Wy (Electric furnace proces®

@ T3 W36 (Blectrolysis proces?

(38-D)

145. Which one of the following is not a
characteristic feature of fungi ?
(a)  Cell wall is made of chitin
(b)  Filamentous mycelium is present
()  Can carry out photosynthesis
P

(d)  Asexual spores are produced

146. Which one of the following statements about
bryophytes is not correct ?

(a) The plant body is a gametophyte.

(b)  They are also called the amphibians of
plant kingdom.

() The plant body is attached to the
substratum by rhizoids.

(d) Specialized water-conducting tissues

are present.

147. What is the specific purpose of using
potassium hydroxide the
saponification process ?

during
(@) To obtain soaps which are hard on the
skin

() To obtain soaps which are soft on the
skin

(¢)  To obtain natural fragrance

. . rrect
148. Which one of the following is the c©

i der
arrangement of metals in the decreasing oI

of their reactivity ?
(a)  Iron, Sodium, Silver, Copper

M_uv

(©)  Sodium, Copper, Silver, Iron

Silver, Copper, Iron, Sodium

(d) Sodium, Iron, Copper, Silver

149. Which among the following statements is not
correct with respect to allotropes of Carbon ?

(a) Graphite is a good conductor of
electricity.
(b) Diamond is the hardest substance

known.

(¢) Fullerene is one of the allotropes of
carbon.

Next to diamond, graphite is the second
hardest known substance.

(@

150. Which among the following is the popular
method for manufacture of ammonia ?

(a) Ostwald’s process
(b) Haber-Bosch process

(¢) Electric furnace process

(d To make the saponification very )
< economical (d) Electrolysis process
ASGT-F-ENG (39-D)
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